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· Answer the following questions on percentages:
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· [image: ]Complete Bronze and the following:


	Gold
· Complete Bronze and Silver and the following:
Create a detailed poster/fact file on the importance of statistics or uses of statistics in daily life. Here are some resources to get you started:
· https://coursementor.com/blog/uses-of-statistics-in-daily-life/
· https://www.statology.org/why-is-statistics-important/
· https://statanalytica.com/blog/uses-of-statistics/ 

	COURSE DETAILS:
· We study OCR Core Maths B. This link takes you to the specification https://www.ocr.org.uk/Images/173574-specification-accredited-core-maths-b-mei-h869.pdf
	

	 GET ORGANISED
· Come prepared at the beginning of term, this will help you to keep your notes and any handouts organised. You will need:
· a ring binder folder, plastic wallets, file dividers
· pencil case with pen, pencil, highlighters, ruler protractor and compass
· lined / squared paper 
· a scientific calculator. Rainham mark sell the advanced graphical calculator CG50 and the classwiz 991EX.

	GET INSPIRED:
To Watch:
· Why Core maths?
https://www.youtube.com/watch?v=Y51Of3G624I 
· Martin Lewis Student loans decoded https://www.youtube.com/watch?v=mO_rAsMuAlM

· To Read:
http://quibans.blogspot.com/ 


	 QUESTIONS, QUERIES AND COMMENTS:
· Use this section to make a note of anything you would like to ask your teacher about when the course starts in September.
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1. In her shop, Jessica has to pay a transaction fee if a customer pays by card. This fee is
1.75%

A customer buys a tablet costing
£320. How much will Jessica’s
transaction fee be?

2. Ann pays £42 a month for electricity. What will she pay if this rises by 36%?

3. A shop is having a closing down sale. All items are offered at 60% off the original price. A
phone was originally priced at £175. What is the sale price of the phone?
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Kodi wants to buy a washing machine. He visits two shops to compare prices

Whiter than White
Washing machine

£210 + 20% tax

Electrix are us
Normal price £280
Sale price 15% off

How much is the washing machine at each shop?
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Ewen bought shares worth £90. In the first year the shares increased in value by 6.2%.
In the second year they decreased in value by 4.3%. How much were the shares worth after
two years?
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Daniel earns £32 650 a year.

The basic tax allowance is £12 570. This means he only pays tax on money earned over £12
570. After that he pays 20% income tax on the rest of his earnings. How much tax does he
pay?
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.Ranijit earned £440 this week. He told his mother this was 25% more than he earned last
week.

His mother said “That means you earned £330 last week”. Check whether this is correct.
Show all your working
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A company makes drinks in boxes of 24

Here are two options for a special offer

Option 1

Option 2
25% more drinks free

25% off the price

Which option do you think the customer would prefer and why?
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A company makes lie detector machines. To check the effectiveness of their machines they
conduct an experiment where people are asked to answer one question. 5000 people take part in
the trial and 500 are asked to lie, whilst the others are asked to answer truthfully.

In total the detector identifies 800 people as liars (not all of these are really telling lies), the
machine also misses 100 of the actual liars.

Detector identified as a liar
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1. Use the information to fill in the mi:

ing numbers A to F.

2. How many of the people that told a lie were detected by the machine?

3. How many people got an incorrect result from the lie detector?

4. What percentage of the 500 actual liars avoided detection?




